BFa4E HE—TT-AKE F—LEK
O DOAFF—L)—F—&HRBELLET
A F—A B F—A C F—4A D F—A E F—A

o[/ [i] — 8h| O|f& x 7 % o)l it Rl OF = # | O|f B = -
X [i] T Al | & 4 Al |t fi Ll # X B (W § & i
# W #® x| |#& 23 & B % L = | [ ® % # |k H E3 X
it H 8 T |E #® % z| |BE M B b " -} T |H Gl & E
X B T B & (7 Nl B = F |F #t E 3 | i BA x|l | it ES 5\
H [i] F ml | K a H F||F H T F| (# n 1 F| (W H *x ¥
IR i F 2B R %X K F| |& i * = | XK v 35 #H | Bk x F
s« KX & B | (W iR = F| (B B B & F| |& 23 % F| |E W -\ ¥

FiE)—J RUHKE
wt B 7

Bty #/Bteybi




TR —J RUEKE

WSty /Bty

AAIEF

1R |A:B 6R ([D:A
2R |C:D /R |E:B
3R |E:A 8R [C:A
4R |D:B 9R [(E:D
oR |E:C 10R [C:B

A B8 |2 ek
A 1312204 13|19 | 3 4
B 31 13/04| 13| 1 | 3 5
c 22 | 31 04 | 13 [11%] 2 3
D 40 | 40 | 40 31 | 4 | 0 1
E 31 | 31 | 31 | 13 3 | 1 2
HA® @\ D F—L




R |
m3421
41
ll | o &
T lzlslel3|SISIS \
%mmmwwmm o
e SHEEEE JEHEHE
Q2|2 2MOW/ I T
/\Mﬁﬂoono 5 00.4”4V 3 N | ™
? 3 o oo1 : i
.7%5301 ol o8 o o %OMMHMWN
: LT mE . OO.WMW mmw7m
! ﬁ_.._m_ln_."_u.z t]|o]joo|o /_AA_H_AZS - OM.AWHW
. ~]© -
TR R th ko v [&]e]e]e R
- L -
m|x|* : | 3
aﬁxmn g i TEReR
) =l i
o~
i # |- o sxm*m = [ -z
vl [= <l - GEE :
4 - ) ==
w%% y pog poe = A , é s
— 5 -ml
o< = = 0 z *.___H
MRS = “[ol<]= EEEE 2o
”7% <« |~ <|m|— ] Rl 0
& - 3
__2&H444 o = JEEE EEeE
._m_.m_m% < s 3ﬁ02 1
it : o < |« -
9 ﬁ 4 2
o S : : 8 -
<o« - 0 :
m . <T| O~ %4
4 < || R EYE
o<« Rl
ﬁ ; i < |||
E413 Bl
I, 2 o N[
AN |
mw_.s - ._ < |||
NHEHENEE -
mm_mo_.s.coch// 14 ™|
%»m OOMNNN (3|8 s d 1
2|8|8 EEEE 1
m/\—&ﬂﬁ ** 0.0.0.2V m PP
_ ikt Oo.m P_/%34 —- | =
i il | ﬁs.m.m%mmm
~ © = 0..lVV 0
.A : LT S y 3|a|g|a %%%1m
LI °r F|®|e| %= 0.4.4%W
vﬂ_ ¥ ...h1140 ! SRR ZEEE
m ol #
AE_HE_ENE ._.a_._n 0 .smn_n.,-ﬂzooo 10110
\ § - —12]8] =
SKRE . |
ﬁ : : : " NN
I re & . :
5 o € C& g B B
| — . :
S < olo M|~ Aﬁﬁ_m_.ﬂm_
- | < — , :
3&H4 < | o < | < %2103 e _.n_
o~
%022 i % — Y| N| v
ZE : °r Bl =
% - i o T M| -
% o ol 35_“14 4
1&H40 < = SEEE EeeE
m_m% «|< o|l—|o o bl e 1
- || O = Mﬁ : :
= < | < ol 1
1 bl < ||
°s - | E | =
u_m% << EIE
N | -
i < |||
N | v+
™|




B A &R

WMGT7 —LR=7T— LB/ BT — LB

%1 | B2 | £3 | H4 E 45— LB %1 | 2 | £3 | H4 F 5 — LB
B A A Al & E| &]x«Kskar 2] B | & |wer-ax| BAL B A A BKABKAIBEal K B | & |mer-us| EAL
4(13|4(2|4|0|0|4]3|1|1AA B B —|12|9 | 057 3 0 | 0 | #DIv/0!
411|4(0|4|2|4|1]4|01h &b & 8|16 | 4 | 0800 1 o | o |#pIv/O!
4(0|4(1]|4]|0|0|4]3|1|3% H = x|12|5 ] 0.706 2 0o | o |#bIv/O
o|4|1|4|1|4|2]|4|l0|4]|h T &F 3F|4 [16] 0200 4 0 | o |#DIV/O!
0 | 0 | #DIV/O! 0|o
0 | #DIV/0! 0 |0 |#DIv/Or
0
4314|4041 ]|3|1]d & = E|13|8 | o619 2 o | o |#pIv/or
4l1|4(2|1|4|0|4]2|21h A ZF F|9 [11] 0450 3 0 | o |#pIv/O!
4|10(4|0|4|0|2|4|3|1|{FBE{kExETF|14]|4] 0778 1 0 | o | #DIvV/0O!
o|4(4|1|4|2|0|4]|2|2|8 b4 B F|8 [11] 0421 4 0 | o |#DIV/O!
0 | o | #DIV/O! 0 |0 |#DIv/Or




R6.3.13

162 TIL—TF b—F AR

-

S
Cnl:8
<t o
MR, f5 iz o NN
i Hon i
Hy I 1 €10
k 4r K& HaK

ik
2
M=

B B

Eo2fr TI—T b—FAVLR

.
4K
HE

VAN |
s\ TV

K 18
H K
£ @mr
KR
Ay
< ™
T Uafty BN
<
t& Ei 3R i
= E% BE
& EK H=

c il




E3 TIL—T b—FAE

-

| &
Bl
Ity B
&3

L EN
B
W B
o
<« ™
10 - +_A._,m KN
e
_m_lm.lm___ @.E C
H = ._A.Em:
(13 R 1ol

c it

2 1}
R4
i
¥

BAS TIL—T F—FAVEE

KR

=

N #

%)

L
i 8
£d
i

4

%

A /8 — §h
R ¥

2K
KR

=

I
@

D



—AKXE
I—hA

I—F

I—Fk

IJ—r

IJ—r

F=

BRI =7

I—k

%4 4@

AT W ] [ ] W] R R
| 2|t (ool % o fet ) o
B e P U e S
2 K| |t K| i e R |EE
PRSI (R (T (R
e K e Lo o o K ) |
"I B 2o = 3w N T
log e [ ue| | || @] mar| =@
Tl (B TF] [ e [ (E [
40 - @l ) ] | e
e e I e e e E
K| e [Ha oo [HE [ [t
[ R & | | [
ik ) |1 o] o | el |
“le 1 e e 2 e ] e 3 B B[ B
HK| o (= s T8 e 24
R (] (B [ (B ] [
g | L1 ) (1| b e
D ST N TE R R s R P
Rl (o8| [WE |2 || may gL a
[EE(Tw w5 R (1 [ i
e | o)) [0 o) (o [ =
" b K o 2o oo 2| e 3=
W (R By de| KR (K | W |
L]
ET [NE TN [ (N \
0 lun | e ) a4 ek (i o] fax ,
U W
D e g e i o e «
| (K e K8 WK S e RE
N BN (R [E R [ (R N
g () K o) | [ |
‘e leml e lew lew e B -
wiE |33 |cw =4 w3 |35 me |
R (RIS B K
Lo | R R ) e
c._.q....ﬂ 3% iEAm_ﬂmAE*D = R
=¢| |RE| =% 8K |28 [Be i
=W (R (T (3 (@K K "
o, K Lol | ol "
H = (Hyl B = =| |HH
(e 8l 3 ol =i KT 4
I [ [ [ K] [ ol 1T [ R <
B [ || e (4o ) O
1 e 1 = i e 2
ol T [l e KK o
S (KT [EE| R [EE| T
s ot s K et g 1
B TS e i P e
= s S8 <8 B e
JLIN] ™[] [ N[> |x)]|N
Bo |lg |l |27 EBTRENTRBTIEB IR TI1R |8




